ACT Practice







Name ______________________________

Geo B Chapters 7 and 8

 




Hour ______
Date ________________
Choose the best answer.  It is expected that work is shown to receive full credit.  

______  1.  The right triangle below has an area of 384 in2.  Find the perimeter. 
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A.  12 in

B.  24 in

C.  40 in 

D.  84 in

E.  96 in

______  2.  Which expression gives the correct length for x + y in the diagram below?
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3. The triangle below is isosceles and is drawn to scale. What is the measure of ZV'?

4. Tn the figure below, A5= T and BC is 10 units long. What is the area, in square inches, of

A4BC?
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4. Tn the figure below, A5= T and BC is 10 units long. What is the area, in square inches, of
44BC?

K. Cannot be determined from the given information
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B.  
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______  3.  The length of a diagonal of a square is 10 inches.  What is the perimeter of the square?  

A.
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______  4.  Find x + y to the nearest tenth.        

A.
5.0 m




B.  
10.0 m


C.
18.9 m


D.
28.9 m  

E.
30.2 m  

______  5.  In the figure below, 
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and BC = 10 units.  What is the area, in square inches, of ΔABC?


A.  12.5

B.  25

C. 
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D.  50

E.  Cannot be determined from the given information

______  6.  If the perimeter of a rectangular house is 44 yards, and the length is 36 feet, what is the width of the house? 

A. 10 yards 
B. 18 yards 
C. 28 feet 
D. 32 feet 
E. 36 yards 

______  7.  If the area of a square flowerbed is 16 square feet, then how many feet is the perimeter of the flowerbed? 

A. 4 
B. 8 
C. 12 
D. 16 
E. 20 

______  8.  A rectangle is twice as long as it is wide.  If the width of the rectangle is 3 inches, what is the rectangle’s area, in square inches?

A.  6

B.  9

C.  12

D.  15

E.  18

______  9.  The triangle below is isosceles.  What is the measure of angle N?


A.  22º

B.  68º

C.  78º

D.  79º

E.  89º

______  10.  The perimeter of the triangle shown is 360 feet.  What is its area in square feet?

A.  90

B.  120

C.  150

D.  5400

E.  10800

______  11.  In trapezoid WXYZ, 
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and 
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is the midsegment of WXYZ.  If 
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is five times as long as 
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A.  3:5

B.  1:3

C.  6:5

D.  3:1

E.  5:3
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